1/c do/dsum p_ [GeV]

Ratio to CMS

T

0.5

900 GeV pp

Underlying Event
S R B R

Scalar Z(pT) (pT > 3)

Rivet 3.1.10, = 500k events

| ﬁ:\‘\.\‘w!* 5 _
= e N —
— h N§ -
- L ]
_ B _
| ’ﬁ\\‘.i _
= gL —=
— m . _
= ..ﬂ.‘@k. =
B g _
m CMS A

=~ --O-- Herwig++ 2.7.1 default .6_5
— H-- Herwig 7.0.0 default L=
I A Herwig 7.0.0 UE-MMHT ]
§| | | | | | | | | ' | | | | | | | |§
:l T T T T | T T T T | T T T T | |:
- s ....... A =
- peses Sy A _
- o éﬁ} % =
C ® A Tt ]
L m\ &\\\ . _— %’ :r_—.’?%':::% = |
S -._.—._..g___-g:::@ = B
B IiJ |
| " 1 1 1 1 | 1 1 1 1 | " 1 1 1 1 | ; 1
0 5 10 15

sum p_ [GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


